log10(l_nu)

raie no.

1

1215.67

Angstroms

-10

lambda(A)




1.0E-07

8.0E-08

2.0E-08 —

0.0E+00

raie no.

1

1215.67

Angstroms

lambda(A)




log10(l_nu)

raie no.

2

1025.72

Angstroms

-10

-11

lambda(A)




1.0E-09

8.0E-10

2.0E-10

0.0E+00

raie no.

2

1025.72

Angstroms

lambda(A)




log10(l_nu)

raie no.

3

6564.63

Angstroms

lambda(A)




nu

3.0E-05

2.4E-05

1.8E-05

1.2E-05

6.0E-06

0.0E+00

raie no.

3

6564.63

Angstroms

0

lambda(A)




log10(l_nu)

raieno. 4 972.54  Angstroms

-10

-11

-12
lambda(A)



4.0E-10

3.2E-10

8.0E-11

0.0E+00

raie no.

4

972.54

Angstroms

lambda(A)




log10(l_nu)

raie no.

5

4862.69

Angstroms

lambda(A)




nu

3.0E-05

2.4E-05

1.8E-05

1.2E-05

6.0E-06

0.0E+00

raie no.

5

4862.69

Angstroms

lambda(A)




log10(l_nu)

raie no.

6

18756.07 Angstroms

2

lambda(A)




raieno. 6 18756.07 Angstroms

3.0E-05 | | | |

2.4E-05 —

6.0E-06 —

0.0E+00 ' ' ' |

0 1 2 3 4
lambda(A)



log10(l_nu)

raie no. 7 949.74  Angstroms

-10

-11

-12
lambda(A)



3.0E-10

2.4E-10

6.0E-11

0.0E+00

raie no.

7

949.74

Angstroms

lambda(A)




log10(l_nu)

raie no.

8

4341.68

Angstroms

lambda(A)




nu

2.0E-05

1.6E-05

1.2E-05

8.0E-06

4.0E-06

0.0E+00

raie no.

8

4341.68

Angstroms

0

lambda(A)




log10(l_nu)

raie no.

9

12821.54 Angstroms

 —_— — —_— — -
_——
—_

2 3 4
lambda(A)




raieno. 9 12821.54 Angstroms

4.0E-05 | | | |

3.2E-05 —

8.0E-06 —

0.0E+00 ' ' ' |

0 1 2 3 4
lambda(A)



log10(l_nu)

raie no.

10

40522.38 Angstroms

_—— — — — — — — — —

2 3 4
lambda(A)




nu

8.0E-06

6.4E-06

4.8E-06

3.2E-06

1.6E-06

0.0E+00

raie no. 10

40522.38 Angstroms

0

2

lambda(A)




